ABINATIITES
' STAINLESS STEEL AT ACTUATORS

EM: 153 3520 5123 S Z8
#5p: 188 5271 7918 WM

B B mimiRERERERAE

e i P A ey et WUXI ACCTON FLUID TECHNOLOGY CO., LTD




Stainless Steel

Actuator

A RINAFWNTTER

@ 316L. 316, 304. S03FFEMHEINITES, SRS,
WEEN, PUEMmMEER, E&TIEMERESMN TR

5
o WERHREATRI, HHEE REMBRITR. KEH
A TE, (EABSK. SELE,

o EEUFHEEHEAMKRSMR, HEHH FRES
N BERESIEL,

o BARMUHMEERE, TIEEDK. FUSMIIR.

o BIEHRAER, MAHBN. WER, RETHEA,

o THMEEME, REXW, HUBEILS.
o RABFFHER T :

Wl B MBRAARY

HANAMURER

SRR ANAMURERE;

FERRFF R FEISO621 1.
DIN3337#5, J{EZR AR

PRATFF SR

® ASTM316L, 316, 304, 303 stainless steel pneumatic
actuator with electro-polish finish offer excellent
resistance to most corrosive chemicals as well as
industrial atmospheres.

® Dual piston rack and pinion design for compact
construction, symmetric mounting position, high-cycle
life and fast operation, reverse rotation can be
accomplished in the field by simply inverting the
pistons.

@ Multiple bearings and guides on racks and pistons, low
friction, high cycle life and prevent shaft blowout.

® Modular preloaded spring cartridge design, with
coated spring for simple versatile range, greater safely
and corrosion resistance, longer cycle life.

® Fully machined teeth on piston and pinion for accurate
low backlash rack and pinion engagement, maximum
efficiency.

Stainless steel fasteners for long term corrosion resistance.

® Full conformance to the latest specifications: ISO5211,
DIN 3337 and Namur or product interchangeability and
easy mounting of solenoids, limit switches and other
acgessories.

TERE Operating Principle

WAEAHITEE Double Acting Actuators

0° 90°
Close Open

AQ#S, E4HSSHEENEE  ArrtoPort A forces the pistons
[SNESD, FHITEEEHY  outwards, causing the pinion
FH§HERE(0°—-90°), BOHES.  toturn counterclockwise

RIERD, {51784 HaIRAY '

ﬁﬁ@%{‘?oo—’ool, ANHES. Air to Port B forces the

pistons inwards, causing the
pinion to turn clockwise
while the air is being
exhausted from Port A.

BIEAHITEE Spring Return Actuators

o° 90°
Close Open

ANMS ERESRREE H, Airfoport Aforces the pistons
WENEEGBIMSE), HITRY outwards, causing the springs
33 A EF RN (0°—90°), B fo compress, The pinion furns
OHES counterclockwise while air is

= being exhausted from port B.
MITRER, BFERAEREIN
B TH WE;JJ HiTeeem ¢ Loss of air pressure on port A,

AR $F 5551 (90°—>0%), AQ the stored energy in the
HES springs forces the pistons

inwards. The pinion turns
clockwise while air is being
exhausted from port A.

CW

90°
Open Close

AOHS, EHEESSHEIFEZE  Airto Port A forces the
[AMNEED, FHITERE LA pistons outwards, causing
BHEHHERE(90°—0°), BOHES. the pinion fo turn clockwise

WIEzh, ERITR LR ’

SHEEE(0°—90%), AQHES. Air to Port B forces the

pistons inwards, causing
the pinion to turn
counterclockwise while the
air is being exhausted from
Port A.

90°
Open Close

ADHS ERESSREesE S, Airto port B forces the
WEBEEGAINES), T4 pistons outwards, causing
AR $1 3£ 5D (90°—0°), B the springs to compress,
OHS; The pinion turns

terclockwi hile ai
fEATARIEE), TR

o o ort B.
SMEEHEER(0°907), AL
HS. Loss of air pressure on port

A, the stored energy in the
springs forces the pistons
inwards. The pinion turns
clockwise while air is being
exhausted from port A.

S/ ARFMSB AT



A Stainless Steel Actuators \

S/ ARFMSB AT

SFPE Parts and Materials

.y _ g N N _ = _ o
T @I orEaN-oCo®NCarwN

[ e T S T R T S T )
~S o kWK — O

=
°

24 22 16 15 14

% # Description
¥5ReR824T Indicator screw
$5R%% Indicator
#E14E Circlip
# R Thrust washer
Sh#2 B Outside washer
EIf& Body
FH"O"RIE O-ring(Pinion top)
i % B Bearing(Pinion top)
MK Inside washer
#h Pinion
T4z %M Bearing(Pinion bottom)
TH"O"HE O-ring(Pinion bottom)
&3k Plug
5E3; Piston
53O "HIE O-ring( Piston)
SEREFARME Bearing(Piston)
SEESH Guide(Piston)
¥ Spring
#HALE Spring Retainer(L)
#iFAZE Spring Retainer(R)
WIS Retainer Connector
¥EQ"BE O-ring( End-Cap)
#% End-Cap
3% EEEAF End-Cap Screw
BTE24F Adjust Screw
FASERAT 'O R O-ring (Adjust Screw)
AT ERATERE Nut (Adjust Screw)

o el an SR e el — BN — = B N B

* *

*

BN RN 0NN

SARER

FARER

FARER

SRR

SARER

# ¥l Standards Material
#8351 Plastic(ABS)
¥84 Plastic(ABS)
TR Stainless steel(304)
F4E4A Stainless steel(304)
Tkl Polyoxymethylene
F4E4A Stainless steel(304)
TR K Viton/NBRNBR
T72¥%% Polyoxymethylene
TF2¥%% Polyoxymethylene
F4E5W Stainless steel(304)
Tie¥8El Polyoxymethylene
THs#aBE Viton/NBR
B NBR
T4 Stainless steel(304)
TS8R Viton/NBR
Ti2%%l Polyoxymethylene
BiEé6 Nyloné
HHFEN Spring steel
BHE66 Nylonéé
BHE66 Nylonéé
iR Brass
THs# B Viton/NBR
F4E4A Stainless steel(304)
F454A Stainless steel(304)
55N Stainless steel(304)
T4540 Stainless steel(304)
THs#BE Viton/NBR

WYERHME Output Torque with Double Acting

A WENE
Qutput Torque
TR ER Y e .
Output Torque of Double
Acting Actuators
ﬁ_E
/“ Rofclon
0° 45° 90°

A RINSZHHITRNERBHAER

Output Torque Table of A Series Pneumatic Actuators with Double Acting Unit: Nm

s SRES (B) Air pressure (Bar)

Model 2 2.5 3 4 4.5 5 55 6 7 8
A-45DA 6.0 7.6 9.1 12.1 13.6 15.1 16.6 18.1 21.1 24.2
A-60DA 14.2 17.8 21.3 28.4 32.0 3555 39.1 42.6 49.7 56.8
A-B5DA 30.8 38.5 46.2 61.6 69.4 77.1 84.8 92.5 107.9 123.3
A-105DA 65.8 82.2 98.7 131.6 148.0 164.4 180.9 197.3 230.2 263.1
A-125DA 103 128 154 205 231 256 282 308 359 410
A-140DA 1175 219 263 351 395 439 482 526 614 702
A-160DA 267 334 401 535 601 668 735 802 935 1069
A-210DA 526 658 789 1052 1184 1316 1447 1579 1842 2105

B{ERHIYE Output Torque with Spring Return

BIERSHPUTRAE S
Output Torque of Pneumatic Actuator with Spring Return
A A% \ HEnE
Qutput Torque Qutput Torque

72
Rotation
=

772
Rotation
==

0° 45° 90°



A Stainless Steel Actuators \ / ATEMSHNITE

ARSI BIEASHPTREHIAER MBIR~} Dimension
Output Torque of A Series Pneumatic Actuator with Spring Return Unit: Nm
B () Ar pressure(Bar) L g
W | 2 25 3 | 4 5 6 7 8 |ImdimE ‘“‘\/\;
Model) | spring. [~~~ Lo Lo Ibamp W op_ lieap e Ilesp 1 ep lleee Il P lisne | er Il ade || ep lewp I cap |l ae 4] L1 ™~ NAMUR
Qty. Start | End | Start | End | Start | End | Start | End | Start | End | Start | End | Start | End | Start | End | Start | End 1 4
ks 30 )12 Lasl2s [ 1 T 1 ] SR RS N B IR NS N7 V9 T E/%# | A
k6 [23] 02 "39 |18 1 54 |3 ] 1T I B S SN S -
x7 [ 1 83 llos a8 |23 ] 78 53] ] B - B A ol es [ 1R = = lb
RPN N T T [ v ol RSN 7 0 O T U] I DA MU . o) N B 7 \
IR N N O A N U S A W A 0 O S P X3 0 R B B Y- Y T B
kol [T ] s0 T2 |90 | sl 120 184 [ 150 | 14l 81 [145] 9.2 [ 58 - >
SRS R NS O Y OO AU D i 84 | 44 | 114 74 [144]7104]17.5(135] 101" | 64 ;
K12 78 | 35 | 108 ] 65 [138 ] 95 [ 169[126] 1.1 7.0 J/ G .
[_ka_[70] 32 welsal | ] 1__]..] B R D) SO I .. ] 104 ss. H
K& | 56 | 10 | 92 | 46 127 |81 | | 1 | U SR S IS R L.....125 82
[P o ST NS PRSI R 77 /.24 | 1259 | 183130, ___| e PR ] PSP el ]lN46 ] 96
agosk X8 LT T 1es 1Tz 1169 108|240 [z T B A ez [ os B
IR CH I SN O A N I 154 | 86 1225 157 | 29.6 | 228 [ 1777 ol 1hss 023 M c
T 00 N N N WY PO N 140 | 6.4 121117135 | 282 1206 [ 353 ] 27.7 | 42.4[ 348|209 [ 137 s
SRS SN OO Y OO AU B N 197 1 11.3 | 268 | 18.4[ 339 | 255] 41.0]326] 2297 150, ]
K12 182 I 9.1 253 1162 | 324 | 233 | 39.5 30A4.| 250 | 16.4 ),
| K5 __[142] 66 | TE 2 P E-T] I S N S E— S S I — ool 1230158 ==
ke __[108] 17 185 9.4 | 262 |70 | T ] R . B O s s0 | ‘
I I 152] 46 | 229 11231383 2771 "] S i U [PV I sz 220
K8 19.6 | 7.4 | 350 | 228 | 50.5 | 383 368 | 253 S
ARGOSR < R e e R T e 31.6 | 18.0 | 47.1 1335 625|489 | | .1 414 285 [ OO u
IS RS W DY IO B S 283132438 | 287 | 59.2 | 441 [ 746 | '59.5| 900749 460 | 316 - - o > o
I I I S A Y A A N 40.5 | 238 | 559 1392 713 | 54.6 | 867|700 50.6 | 348 }: fan
K12 37.1 | 19.0 | 52.5 | 344 | 67.9 | 498 | 833 65A2—| 55.2 | 38.0 L
| KS 1825140 | 489 1304 | | | | ___ | ___| U S SRS R ceedooo | 4921316 oo |
K€ T[2587| 36 42277200587 (3¢ | Tl SR D N I AN -1 = r
o i e 35697 |21 |262 1850 | 69.1 ] " 1" "7 7] o) N el Seeles 088 LS \
adossg K& [ 454 158 | 7837487 1111|815 | S SO ClisT 504 - L
IO 200 N N IR N NN A 717 384 1045|712 [137.4 11041 "1 "] ] Tess 56
T FNIOION U P RSN R R 650 | 280 | 97.8 | 608 1307 | 937 [163.6 |12661196.5]159.5| 98.4 | 633
K T 91.1 | 50.4 12401833 [1569 1116:21189.8 |149.1 108.3 | 9.6
K12 84.5 | 40.1 |117.4 150.3 | 105.9 |183.2 |138.8| 118.1 | 75.9
K5 [479 17205 [729 [4s5 | |- T S S 78524
DK T[369 40 [e19 7290 879 w50 1T T T s 628
o/ S I 5087125 | 768 (385 1278 (895~ "] 17777 S DR e [ 733 4-M5x8
Atass | K8 [T 658|220 | 1168 730 11678]1240] S SO ] 2sae3E N 24 *
IO 200 Y N IR N R A 1058 56.5 |1568]107.5 2088 |159.5] | "] e [ean ~ — =
IR 10 i o I e e o 948 | 40.0 11458 91,0 |197.8 |1430[248.8 | 194.0|299.8 [245.0| 1568 [104.7 50 o
K[ (1348 745 | 1868 1126.5(237.8 |177.51288.8 2285 172.4 [115.2 & 5 Y Y &
K12 123.7 | 58.0 |175.7 [110.0|226.7 [161.0 |277.7 |212.0| 188.1 |125.7 o g)l 7N )
ks lae7 393 azless | | 1 I 1 T 1 ] SESU NUSE PR ... »0]858 = o . o T r
| K6 __[6667 121 1106 56.1 11846 1100.1 | "~ |77 I N I D | |isas 102y @ b
A D 92617290 (13681730 | 2243716101 "1 """ 7777 B D CIII I sos [0 & b 00
Aok K8 [CIIIIITTIIIT 1185|458 | 2085 (1338]2945]2218] "~ I D I B I TSR A
K9 188.5 | 106.7 |276.5 | 194.7 | 363.5 281.7 232.1 [154.4 o
AL O A Oy A N 17041 79,6 {2384 |167.8 | 3454 12545 |435.4 | 3423|3314 [ 4308|2579 1716 — . ) NUMAR G1/4' 5t 1
KT |240.31140.4 1307.3 1227.4[415.3 1315.4 15033 | 403.4| 2837 [188.7 : -
K12 222.3(113.2 | 309.3 |200.2 | 397.3 | 288.2 |485.3 |376.2| 309.5 |205.9 Todel AirConne;::iqor:
KS 120.0 | 47.7 (187.0|114.7 208.3 |139.7
R TT[904 [ 3Y 1576 709 | 2Asis7s T T e e p | A B e E e : VoK UM N sy
K7 128.2| 27.0 1952 |94.0 |329.2 |228.0 292 | 196
A-160SR Z:ﬁgﬁ::::::::::::::::::::]:65-?::5:022::%ﬁ;g-?::%gig:%gg@:g%g:%::é;é SN N :::g%%: ’E’gf Ad5 | 48 | 70 | 41 | 65 [ 85 123 | @36 | P50 | MSXS | MéxI0 | 11 | 148 | 16 | 80 |14 GI/4
4 [140.371403.4273. 4407, "
K10 T T 200 964 |3740]229.5 | 5080 13635 64116 1496517756 (6305 4177 [ 279 L ———— - e e e e o e
oKy 344.61185.6 1 478.6 (319.6 | 611.6 | 452.6 |745.6 |586.6) 458 | 307 A-85 75 102 | 53.5 | 108 128 | 24 | @50 @70 Méx10 | M8x13 17 197 | 16 | 80 | 21 Gl/4"
K12 15.2|141.7 | 449.2 [275.7] 582.2 J1716.21542.7
___K_5____??E__J?é__?é?__?@s_______________________3_?_.____ _____ __5___?8_"_??“"6" ?_"__ggg_"ggg_ A-105 92 | 122 | 63.5 | 133 153 | 24 @70 M8x13 22 | 251 16 | 80 | 26 Gl/4"
___g _____ | ??"_{é_"gé‘%___]9293__ggg__%gg_héiiuiéé ________________ ) FECE e F R Lo """g'g%’ _g_l_g_ A-125 96 140 | 72 155 185 | 28 | ®70 | @102 | M8x13 | MIOx16 | 22 | 284 | 22 | 130 | 26 Gl/4"
amose [k LTI T e s Yo s s s e | s A140 | 112 | 154 | 78 1715|2015 | 34 | @102 | @125 | MI0KI6 |MI220 | 27 | 360 | 22 [ 130 [31 | Gl
K9 531 | 333 | 795 | 597 | 1058 | 860 647 | 469 "
Ko [T T T g T ass 787 | 517 1000 | 780 [ 1263 | 043 | 1526 | 1306 719 [ S21 A-160 | 127 | 173 | 86 197 | 227 | 39 | @102 | @125 | MI0x16 | M12x20 | 27 420 | 22 | 130 | 31 Gl/4
I S KR R E RN A AN P A 679 | 437 | 942 | 700 | 1205 | 963 | 1468 | 1226 791 | 573_ A-210 | 144 | 226 | 110 | 255 | 285 | 45 D140 M16x25 | 36 | 530 | 32 | 130 | 40 Gl/4"
K12 621 | 357 | 884 | 620 | 1147 | 883 | 1410 | 1146| B63 | 625




A Stainless Steel Actuators \

ERAZIFE Onerating
1LERMTR: ERES. TEMMESEFH; 1. Operating media
2. [xH3eE: WIEM2~8E (Bar) , &fEM2~8E (Bar) Dry or lubricated air, the non-corrosive gases or oil.

. LIERE: 4R ((FRTRBRERORME) -20°C~+80°C 2. Air supply pressure
FER (FAEETRERORME) -35C~+80°C  Double acting: 2~8 Bar; Spring return: 2~8 Bar
BaR (FAFERROEMA) -15C~+150°C 3. Operating temperature

4. TRRAE: FREM/FRNUER T4 NECH; Standard: -20°C ~+80°C

5.7 B EEBRIERGT, AEFMEDAET; Low temperature: -35°C~+80°C
6. & ¥ EBRENLBHIRE; High temperature: -15°C~+150°C
7. BRBEREN: MASRETEIYI08, 4. Travel adjustment

Adjustment range of + 4° when the pistons at the sides.
5. Lubrication
Under normal operating condifion, need not accrete
lubricant
6. Application
Either indoor or outdoor
7. Highest pressure
The maximum input pressure is 10 Bar

TR
»

| Consumption
A RIIHITREFEFFRFAKEEFR A Series Air volume opening & closing

ad o= FEEFR (F) X@FR (F)

Model Volume Opening Volume Closi_p_g_

A-45DA 0.08 0.11

A63DA | 0.20 0.23 :
A-8DA | 0.41 0.55 -
A-105DA 0.94 1.18 g
A-125DA 1.47 1.85 '
A-140DA 2.43 3.20
A-160DA 3.65 5.03
A-210DA | 7.4 9.7

ESBERTFHSEND. FXTE. BRAKMNEREITHNT:

H/H=SEEHR (FAFER+XEER) <[ (RREH (Kpa) +101.3) +101.3] x k&/5 4

Air consumption rest with Air Supply. Air volume and Action cycle times, expressions:

L/Min=Air volume(Air volume Opening +Air volume closing) X [(Air Supply(Kpa)+101.3) = 101.3] X Action cycle times (/min)

o =
IES
ARITEE RS A Series Unit: Kg Q = (x(x Q o ==

Weight(SR) 2.65 4.10 7.00 12.60 19.20 27.30 37.60 100.00




Ac Series Stainless Steel Actuator \

Ac Series

Stainless Steel Actuator
AcRIIAFHNNITES

%304, 304L. 316, 316L T454R4A AT %%,
SR BRI, HEEM, MR,
A T I 12 KA 5 a9 T2 IR,

x AE R G EFXGT, sHEAR 2E4E
BEabaR, AR B s e oy 1R, AFF K.
HER ik,

*HEREFTERA LEFARATEIR, FH1F
A, PR A O, A FER,

A XA ITEERK, THEFFK. B
Tk AR AR o

* A% 55 Ao T 44 9556 Fo i 45,
HWED, WEhEX

* TR B, A EW, Bz,

% Ab Al ——3 59 7 Al
Ac Bl —— 4518 3 A
T iR RE B P 091 % Ko

* K B R R T
i dg . BRIL;

T 4R % F LR T 454 NAMUR 45/
ARAED R 454 NAMUR 457 /43
J& 3R 2 R ILR T 454 IS0 5211,

DIN 3337 47, #1822 ¥ QHERIRILTF X F

(iR

B A1 IR fEF)

*

*

*

*

*

*

ASTM 304, 304L, 316, 316L stainless steel
pneumatic actuator with electro-polish finish
offer excellent resistance to most corrosive
chemicals as well as industrial atmospheres.
Dual piston rack and pinion design for compact
construction, symmetric mounting position,
high-cycle life and fast operation, reverse
rotation can be accomplished in the field by
simply inverting the pistons.

Multiple bearings and guides on racks and
pistons, low friction, high cycle life and prevent
shaft blowout.

Modular preloaded spring cartridge design, with
coated spring for simple versatile range,
greater safely and corrosion resistance, longer
cycle life.

Precise machined teeth on piston and pinion for
accurate low backlash rack and pinion
engagement, high transmission precision,
maximum efficiency.

Stainless steel fasteners for long term corrosion
resistance.

Ab model —— one-way adjustment

Ac model —— double adjustment

Can meet the needs of different customers.

Full conformance to the latest specifications:
ISO 5211, DIN 3337 and Namur or product
interchangeability and easy mounting of
solenoids, limit switches and other accessories.

/&3 Operating Principle

CCW

0° close

AD#S, ER=SHER
BYMEED, ERITESE S b
B EHiERE(0°—90°), BOHS,

BO#SR, ER=SMENER
BIRES, £HIT385H IR
B EHIER (90°—07), ADHES,

B{EMAMITEE Spring Return Actuators

90° open

air is being exhausted from Port B.

inwards, causing the pinion to

turn clockwise while the air is

being exhausted from Port A.

CCW

e

EH
|llﬁl.:lluill.“|‘jll-

0° close

ADHS ER=SREREN,
HEhER@IMER), WMITEE
H4hi¥ B $H44£3H(0°-90°7), BO
A=

MITHERR, FEERENDN
EATEORES, iTHEHH
B £+H#%50(90°—0%), ADHE

=
o

90° open

Air to port A forces the pistons
outwards, causing the springs
to compress, The pinion turns
counterclockwise while air is
being exhausted from port B.

Loss of air pressure on port A,
the stored energy in the springs

forces the pistons inwards. The

pinion turns clockwise while air
is being exhausted from port A.

90° open

Air to Port A forces the pistons AO#S, E4ERSH TR
outwards, causing the pinion to E4MEE), {EHITIRE S HHIM
turn counterclockwise while the BFEHER(90°—0°), BOHS,

BO#S, R SHaEE
Air to Port B forces the pistons @ RiEsh, (#1752 Hahi

KR (0°—90"), ADHER,

ADHS, ER=SRERN,
HEREINET, RITRB
% IR BY £+ 430 (90°—0°), B
OH=;

MITH/ER, EREREHN
ERTEREE, M7
4h3% B $HE2EN(0°—90%), AD

A=

/ Ac BIREN BN NFT2E

Sl
A B
0° close

Air to Port A forces the pistons
outwards, causing the pinion
to turn clockwise while the air
is being exhausted from Port B.

Air to Port B forces the pistons
inwards, causing the pinion to
turn counterclockwise while
the air is being exhausted
from Port A.

0° close

Air to port B forces the pistons
outwards, causing the springs
to compress, The pinion turns
counterclockwise while air is
being exhausted from port B.

Loss of air pressure on port A,
the stored energy in the
springs forces the pistons
inwards. The pinion turns
clockwise while air is being
exhausted from port A.



Ac Series Stainless Steel Actuator \

A= Mdel :
% S No.

vl = =B - R N = BT, B VY R T

PR RN NN NN =S =S a2 o
N o kR WN =S O WSO

Tt Fo it #

/ Ac BERERSehnITaR

24

20 19 18

Ac45-160

4 FR Description
EREs9ET Indicator Screw
$57=8% Indicator
SEMERSE Circlip
#HF Thrust Washer
ShF Outside Washer
&I{& Body
A K Inside Washer
¥ Cam
E4HOEE O-ring (Pinion Top)
F4h3 356 Bearing (Pinion Top)
% Pinion

Téh32 B Bearing (Pinion Bottom)

FHhOZEE O-ring (Pinion Bottom)
22k Plug
i&3E Piston
IR Bearing (Piston)
iEZEO%EE O-ring (Piston)
¥ Spring
7 OBYE O-ring (End-Cap)
iy i K B %247 End-Cap Screw
%% End-Cap
BREOZERET Limit screw
BREFSZEF Limit Nut
FEIE SR Guide (Piston)
5 $84% Adjust Screw
R Nut (Adjust Screw)
AR EORE O-ring (Adjust Nut)

Parts and Materials

F
Il &
-3
4

1716 15 14

13

T S I ST I S O PO P P R e

[ RS L ST S R ST (ST S R I S ]

# #} Standards Material
T2 Polyoxymethylene
T¥#] Polyoxymethylene
A5 (304/316) Stainless Steel (304/316)
454 (304/316) Stainless Steel (304/316)
Ti2¥# Polyoxymethylene
554 (CF8/CF8M) Stainless Steel (CF8/CF8M)
THe¥#} Polyoxymethylene
59 (304/316) Stainless Steel (304/316)
SRR/ T 5 4R% Viton/NBR
Ti2¥# Polyoxymethylene
549 (304/316) Stainless Steel (304/316)
TF2E%} Polyoxymethylene
SARRZ/T RS 4%R% Viton/NBR
SARRZ/T F5ARR% Viton/NBR
A5 (CF8/CF8M) Stainless Steel (CF&/CF8M)
THE# Polyoxymethylene
SRR/ T B4R Viton/NBR
35 Spring Steel
FARAZ/T FEARRE Viton/NBR
549 (304/316) Stainless Steel (304/316)
454 (CF8/CF8M) Stainless Steel (CF8/CF8M)
59 (304) Stainless Steel (304)
549 (304) Stainless Steel (304)
TF¥#} Polyoxymethylene
54 (304/316) Stainless Steel (304/316)
554 (304/316) Stainless Steel (304/316)
SRARAR/T FEARAR Viton/NBR

171615 14

EJS Mdel : Ac190-240

F S No.

—_

£ FR Description
R M24T Indicator Screw
1588 Indicator
FMEHLE Circlip
#H B Thrust Washer
4MB K Outside Washer
chigl{k Middle Body
MK Inside Washer
e Cam
F#OZEE O-ring (Pinion Top)
_F#hE#E Bearing (Pinion Top)
#h Pinion
T 4@ Bearing (Pinion Bottom)
T#OZE O-ring (Pinion Bottom)
J&3E Piston
;EIROFIE O-ring (Piston)
7E2 XM Bearing (Piston)
RI{ROZ @ O-ring (Lateral Body)
U2 E 9247 End-Cap Screw
i3 End-Cap
S Spring
W 44E Adjust Screw
A8 Adjust Nut
FEIRSHR Guide (Piston)
BFEFOEE O-ring (Adjust Nut)
NAMUR#% #4548 Adapter Plate Assembly
fUET{Ak Lateral Body
i ZOE O-ring (End-Cap)

EHELA M Pipe Connector Assembly

22 2324

® 1

=

28

o 12
(- -13

# & Qty. # ¥} Standards Material
T ¥ %} Polyoxymethylene
T4 Polyoxymethylene
54 (304/316) Stainless Steel (304/316)
55 (304/316) Stainless Steel (304/316)
T ¥ %} Polyoxymethylene
54 (F304/F316) Stainless Steel (F304/F316)
THE¥%Y Polyoxymethylene
A4 (304/316) Stainless Steel (304/316)
FARRZ/T BEARAX Viton/NBR
T2 ¥4 Polyoxymethylene
B (304/316) Stainless Steel
TF¥%] Polyoxymethylene
FARRZ/T BEARA Viton/NBR
5 (CF8/CF8M) Stainless Steel (CF8/CF8M)
SRR/ T BEA8 L Viton/NBR
T 2% %] Polyoxymethylene
FARRL/T BEARAZ Viton/NBR
5 (304/316) Stainless Steel (304/316)
55 (304/316) Stainless Steel (304/316)
#5549 Spring Steel
454 (304/316) Stainless Steel (304/316)
R4 (304/316) Stainless Steel (304/316)
THE¥HY Polyoxymethylene
SEAS BT B8R Viton/NBR
T 454 (304/316) Stainless Steel (304/316)
454 (F304/F316) Stainless Steel (F304/F316)
SEARBL/T BE1R A% Viton/NBR
54 (304/316) Stainless Steel (304/316)

N S I o« T N T N T S B S L = T T e

[RS TN S I S T T T (S ]



Ac Series Stainless Steel Actuator \ / Ac RIS ST

BJS Mdel : Ac190-240

Z
1
w
[m]
i i & o \
LENY Al ) .
A D L | \ / / @
) ]
' &6
_% %—s 2xG1/4 4xM5x8 %
- ol [ [ =
4xM5%8 2xG1/2 4xMBx8
‘ﬁ Eﬁz‘ 24 H NAMUR G1/4 NAMUR G1/2 NAMUR
==
| \ ) [ eModel] A | B | ¢ | D E F| e [ H J K M N P Q | z
g = Ac45 | 28 | 40 | ®40 | 67 | 87 | 45 | 30 | 80 | ®36 | ®50 | M5x8 |M6x10| 11 | 14 | 150
ﬁﬂ [T ﬁ; 3 Ac60 | 36 | 44 |®40| 83 | 103 | 52 | 30 | 80 | ®36 | ®50 | M5x8 |M6x10| 14 | 17 | 165
@ P \ N Ac85 | 49 | 54 | ®40 | 110 | 130 | 64 | 30 | 80 | ®50 @ ®70 | M6x10 | M8x12| 17 | 22 | 203
&J KE L /@ 9 Ac-105 | 60 | 63 | ®40 | 135 | 155 | 75 | 30 | 80 | ©70 | 102 | Mex12 |[M10x16| 22 | 26 | 256
- -~} Ac125 | 70 | 69 | ©55 | 157 | 177 | 92 | 30 | 130 | ®70 | ®102 | M8x12 [M10x16] 22 | 26 | 282
. Ac-140 | 77 | 75 | ®55 | 174 | 204 | 105 | 30 | 130 | ©102 | ©125 |M10x16|M12x20| 27 | 32 | 365
— — 2xG1/4 4xM5x8 Ac-160 | 88 | 82 | ®55 | 198 | 228 | 116 & 30 | 130 | ®102 | ®125 M10x16/M12x20] 27 | 32 | 425

B — Ac-190 | 133 | 142 | ®80 | 234 | 264 | 147 | 30 | 130 - |o140| - |m16x24| 36 40 | 575
4xM5x8 G1/4 NAMUR Ac-210 | 143 | 152 | ©80 | 256 | 286 | 154 | 30 | 130 | - | ®140| - |M16x24) 36 | 40 | 575

H
NAMUR Ac-240 | 160 | 170 | ®80 | 288 | 318 | 174 30 130 - ©165 - M20x25, 46 50 650




Ac Series Stainless Steel Actuator \ / Ac BRGNS I =

AcRIIRIERSBBUTREHALER

éﬂ- 4B Output Torq ue with Double Ac“ng Output Torque of Ac Series Pneumatic Actuator with Spring Return "
> unit: Nm
B hiE SIREH(B) Air pressure(Bar)
A Output Torque mig  |SESEIREK 2 25 3 4 5 6 7 8 ﬁnﬁz&%ﬁ
(ool sg;'g 0°] 90° | 0° ] 90° | 0° | 90°| o° | 90°| 0° | 90°| 0° | 90°| o° | 90°| 0° | 90°| 90°| 0°
SUAE FR 1T S84 H F1 46 . ; S:;aoﬂ linzd S:aert E2n8d Start | End | Start | End | Start | End | Start | End | Start | End | Start| End S‘:::srt in:
Output Torque of Double > 7777777 s ) e [ U] AN PR NS EEN E— N N P N Eog e
. 6 39| 18 | 54 | 33 55 | 35
ACtlngACtuatorS / “"‘?"""' """""" S '4'&"'2'3'":{_'8"'5'3' e I Y I o ______6_5___;1_1_
AcassR |8 | 1 | 172 43[1w02/73| | | | | | |74 46
512 I U U S S 66 | 34 |96 | 64 | 126] 94 | | ol 83152
/lr Rotation L A U SO SRS S A ... 90 54 | 120 84 | 150 | 114|181 145| 92 | 58
0° 45° T U L R R e USRS RRER DR |84 44 | 114 |74 | 144 | 104 175| 135 101 | 64
12 108 65 | 138 | 95 | 169|126 111 7.0
_ _ 5 |70 |32 106 | 6.8 104 | 6.8
AcRFISThBUTR NI EABHAER -y el Al o2 1as 117811 " ) B B S ina i Sl i & 1251 82
Qutput Torque Table of AcSeries Pneumatic Actuators with DoubleActing Unit: Nm A 12 s9 183130 ] I N N 146 | 96
; AC-60SR -2~ - SRRl EEEEI EEEE RRRRl ERhl EEEE LEXER el POAL L EE RREEE ERRR EEEE EEEE ERRRl EEEE EES R
s L N A R U S B 16.9 [10.8 | 24.0 | 17.9 | | U I I U S 16.7 | 10.9
i VRN (E2) Air pressure(Bar) I N 154 | 86 | 225 157|206 228 | | I 1881 12.3
Model LT S O I S S I AR _...1211135]282 |206 | 353 | 27.7 | 424 | 348 | 209 | 13.7
2 25 g t 48 5 95 6 L 8 IR I B SN I D 1971132658 [184 339 255 410|326 229 150
Ac-45DA 6.0 76 0.1 12.1 13.6 15.1 16.6 18.1 211 24.2 12 253 |16.2 | 324 | 233 | 39.5| 304 | 25.0 | 16.4
.5 142 66 |219|143 | | | | SO U U R S U I S S 230 15.8
Ac-60DA 14.2 17.8 21.3 28.4 32.0 35.5 39.1 426 49.7 56.8 e T 185| 94 | 262 171 N O N N N T 276 | 19.0
7 229 | 1237 383 | 27.7 322 221
Ac-85DA 30.8 38.5 46.2 61.6 69.4 771 848 | 925 | 1079 | 1233 P S T ety Ll Sttt Lk LR e 350 1228 1son 3631 el el Rt ) okt o R
Ac-105DA 65.8 82.2 98.7 1316 | 1480 | 1644 | 1809 | 1973 | 2302 | 263.1 I R IS I SRR SR S 316 | 180 | 471 | 335] 626 489| | | R S 414 | 285
I L I A S U S A o1 438 287 592 | 44.1| 746 | 595 | 90.0 | 74.9 | 46.0 | 31.6
Ac-125DA 103 128 154 205 231 256 282 308 359 410 U ] 1405 23.8| 559 | 39.2| 713 | 546 86.7 70.0 506 34.8
12 | 525 | 34.4| 67.9 | 49.8 | 83.3| 65.2 | 55.2 | 38.0
Ac-140DA 175 219 263 351 395 439 482 526 614 702 5 325 | 140 489 304 492 | 316
e T 422200 | 587 | 365 | | AR R I B T R 59.1 | 38.0
Ac-160DA 267 | 334 | 401 | 535 | 601 | ee8 | 735 | 802 | 93 | 1080 L8 RN ST . LN DR LR EESELES RIS SO M SN ESTN pe—— vl SR LS00
334 401 535 601 668 735 802 935 1069 2 O DO B R A LTI A A O S O R 851443
Ac-190DA 426 532 638 851 958 1064 170 | 1277 1490 1702 IR R DR T RPN e e 78.3 | 487 | 1111 | 815 | saleea sl e 78.7 | 506
Ac1058R | 9 | | | R I R 71.7 | 384 |104.5| 71.2| 1374 |1041] | | S B 88.6 | 56.9
Ac-210DA 526 658 789 1052 1184 1316 1447 1579 1842 2105 10 97.8 | 60.8 | 130.7| 93.7| 163.6| 126.6| 196.5| 159.5| 98.4 | 63.3
TR N N " 911 504 | 1240 83.3| 156.9| 116.2| 189.8] 149.1| 108.3| 69.6
ARl VY o2 e 155 sl 23 2R || 2589 || 298 e 12 84.5 | 40.1| 117.4] 73.0| 150.3| 105.9| 183.2] 138.8| 118.1| 75.9
|5 _|478 205 |729|455 | | | | SO U U R U I U S 784 | 524
P - N R D 619290 | 879 1550 | | BUPI D T T P o P o & 94.1 | 62.8
I SR I SR ____|788 385 1278 85 | | ___| SRR U I SO S 109.7] 733
' . . (R - U SRR AR RO RN AR AR 116.8 | 73.0 | 167.8| 124.0 | RN ER A R R 125.4| 83.8
| 42 4B Output Torq ue with Spl’l ng Return Ac1258R k--9--doo- Lo [.__] A D D 1058 56.5 | 156.8| 107.5 208.8/ 1595 | N 1411 94.2
- U [+ S A A U U I N ____l1458| 91.0| 197.8 143.0 248.8 | 194.0| 299.8| 245.0 156.8 104.7
U N SRS AR A ] ____l134.8| 745  186.8| 126.5 237.8| 177.5 288.8| 228.5/ 172.4 | 115.2
T 12 175.7] 110.0] 226.7| 161.0| 277.7 212.0| 188.1] 125.7
é{t}ﬂmn%ﬁﬂjﬁﬁ 5 847 | 39.3 |128.7] 83.3 120.0| 85.8
Qutput Torque of Spring Return Actuators N 1106 | 56.1 | 154.6 | 1001, AR R I AR N B T 1s48] 10229
r [l ]1ses 730 2246 1610 |1 T [ 1805 120.1
8 ol 206.5/133.8 294.5/2218 | | SR I ool _|208.3|137.3
A BWdinie \ BHihRE Ac1408R | g [T N O A 1885 106.7| 276.5 194.7 | 36352817 | 23211544
Output Torque Output Torque T N R R e | |258.4(167.5 345.4 2545 433.4| 342.5 521.4/430.5 257.9 1716
R S U S IS S U R N I ____1240.3/140.4 ] 327.3 |227.4| 4153 315.4|603.3/403.4 | 283.7 188.7
12 309.3|200.2| 397.3| 288.2| 485.3]376.2| 309.5/205.9
|5 1200477 1870|147 | | SR S I A R I ol 20831397
LTS NS A | 157.6] 70.9 | 2246 137.9| RSN TR R P I o ____l____| 250 | 168
. R IR IS R A 195.2| 94.0|329.2/2280| | | | S I Lo | 292 196
=3 L8 L] SR I 299.8 |184.2/ 432.8|317.2| | R R A ool | 333 223
Rotation Acteor b9 .|l | _] I S R ¥ 2704 140.3/403.4|273.3| 537.4 |407.3] | .| 375 251
o N [* R S IS S S DR I ____1374.0/229.5 508.0 |363.5 641.0| 496.5 775.0/630.5| 417 | 279
LS A A I S B ___|344.6|1856|478.6|319.6) 611.6| 452.6/ 745.6/586.6 | 458 | 307
12 4492 275.7| 582.2| 408.7| 716.2542.7| 500 | 335




Ac Series Stainless Steel Actuator \

=i ({ERFERORE ) -15°C ~ +150°C
4. {Ti2iR%.
AbY, B +5° i,

High temperature: -15°C ~ +150°C
4. Travel adjustment

Ab model, Have one-way adjustment range of £5°;

/ Ac BIREN BN NFT2E

unit: Nm - A
SiBEH(B) Air pressure(Bar) AI r Con SU m ptlon
wwmy| 2 25 3 4 5 6 7 8 S*lfm,ﬁ*fﬁ
FtEModeh | (sprin g o ne FOHR %R
P 0k 90° 0° 90° 05 90° 0° 90° 0 90° 0° 90° 0F 90° 0° 90° 90" | 0° Model Volume Opening Volume Closing
QY.)  ['Start | End | Start| End | Start | End | Start | End | Start | End | Start| End | Start | End | Start | End | Start | End
5 [2e0 105332202 | [ [ [ [ [ | [ [ [ ] | 309 160 Ac-45 0.08 0.11
8 oo 292 61 | 38 | 267 | |\l R 371 | 200 Ac-60 0.2 0.23
I R I 358 | 205 | 571 [ 418 | ||l . Lo _l___| L. )4%3 | 240
Ac-1908SR . _B ________ I D I _5_3_1_ _3_5§ B _34_4_ _5_6? [ I D R I _4_9_5_ I _2_89_ Ac-85 0.41 0.55
s | N | 491 | 205 | 704 | 507 | 917 | 720 | | | | | 557 | 320 Ac105 0.94 1.18
I L I D A Lo l___|664 | 446 | 877 | 658 | 1090 | &71 |1302 | 1084 618 | 360 _ Ac-125 1.47 1.85
I B R O S R b ool | 624 | 384 | 837 | 597 | 1050 | 809 |1263 | 1022 | 680 | 400_ : '
12 l 797 | 535 | 1010 | 748 |1223 | 960 | 742 | 440 Ac-140 2.43 3.2
.5 [ 287 (126 869|288 | | oL ool o ool oo.l..._)|. 360 | 260 Ac-160 3.65 5.03
6 311 | 178 | 442 | 309 432 | 313
AN S B 84 | 200 | 6a7 |ag3 | | || T s0s [ ses A1 2 £
Ac210sR | 8 | N | |89 413|883 677 | | | | | | 75| 417 Ac-210 7.4 9.7
I I I [ o o_|f.._]531 | 333 795 607 | 1058 860 | | | o] 847 | 469 Ac-240 11 13.8
A L RN S oo |T87_| 817 | 1000 ] 780 | 1263 | 1043 | 1526 | 1306 | 709 | S21_ :
AL U S A ool | 679 | 437 | 942 | 700 | 1205 | 963 | 1468 | 1226| 791 | S73_ FESBIATHSEH. FETR. GRESDHEREITHDT:
iL | Sadalloo0r UATAT leser LA10- 81 865312625 FH4=SEERTR ( FFOHAR+ XBER ) x [ (#SEH (Kpa) +101.3) +101.3] x K¥y 4
5 341 | 190 | 552 | 409 554 | 410 ] . e ; . . .
------------ bl Bl EECEE ELrt pbide EEEEE EELE EEEE] EEEE CEEEE EEEEIEEEE Ehht RREh SEEEE Erttl BT Air consumption rest with Air Supply. Air volume and Action cycle times, expressions:
SO ____| 470 2907 | 662 | 489 | | ___ SRR 'SR AU SR I oo | 685 | 400 e . . . ) . , : ) .
A T s60 | 379 | 964 |74 | | | | ] T s s L/Min=Air volume(Air volume Opening +Air volume closing)x[(Air Supply(Kpa)+101.3) +101.3]xAction cycle times (/min)
Ac-240SR - --8 | ___| S IS D __._| 883 | 653 |1267 | 1037 | | | ____ b | 886 | 856
S SRR AR DR A _...1 800 | 542 |1185 | 926 | 1569 | 1311 | oo ] 808 | T30
SO LU I TS ECIN FRVR reu O DR S 1103 | 816 | 1488 | 1201 | 1872 | 1586 | 2257 | 1970 | 1108 | 821 -
I L N SN I D I R B 1021 | 705 | 1406 | 1090 | 1791 | 1471|2176 | 1859 | 1219 | 903 < ,ﬁ I
12 1 1323 979 | 1708 | 1363|2093 | 1748 | 1330 | 985 Welght Table
EE Model Ac-45 Ac-60 aA-85 | Ac-105 | Ac-125 | Ac-140 | Ac-160 | Ac-190 | Ac-210 | Ac-240
Wik Weight(DA) | 2.0 3.0 6.4 9.7 14.1 20.9 29.9 81.0 9256 125.7
- c - - #® Weight(SR) 2.1 3.1 6.8 105 155 23.2 336 87.7 102.2 139.5
TiE# K4 M  Operating Conditions
1. ERENE: 1. Operating media - h . .
EERS. TEMMESE. Dry or lubricated air, the non-corrosive gases. i ﬂil‘ lﬁ] ope ratlon Tlme
2. EHEH. 2. Air supply pressure
WIEMA2~8E (Bar) , #{EfH2~8E (Bar) Double acting: 2 ~ 8 Bar; Spring return: 2 ~ 8 Bar S Model | Ac45 | Ac-60 Ac85 | Ac-105 | Ac125 | Ac-140 | Ac-160 | Ac-190 | Ac-210 | Ac-240
3 THESRE. 3. Operating temperature 0°- 90° (DA) 0.5 0.7 0.9 1.5 2 2.5 3.5 4 45 6
o i 90°- 0° (DA) 0.5 0.7 0.8 1.5 2 25 5 5 6
FRAERD (£ T RERAR0ELE ) —20°C ~ +80°C Standard: -20°C ~ +80°C 3% GOS8 R) 7 e p T s e ) ) )
RE (ERIRETRROEE ) -407C ~ +80°C Low temperature: -40°C ~ +80°C 90°- 0°(SR) 0.5 0.8 1 15 1.5 4 5 5

PITERENEN A S BRI . AUER. SESRANOCVE, SREEN, AHFREFX,

AT LURIEE P EREH SR TRITB A 1EI o

The operating time of the actuators depends on the CV values of the solenoid valves, regulator valves, pipes. It depends on the air

Ac model, Have double adjustment range of £5°. supply, operating load and o on.

AcBY, FF¥EfI+6° T

6.j1 8. 5. Lubrication We can custom the size of the holes to meet the require of the operating time of the actuators.
HEIEETHESHT, RERIEEF, Under normal operating condition, need not accrete lubricant.

6. & ##. 6. Application
BEEARETIIRE; Either indoor or outdoor.

7. mafFERED: 7. Highest pressure

BNSEABITI0E (Bar) o The maximum input pressure is 10 Bar.




V4 ERFWIERTY

ERFMRESE (FH30)

All Stainless Steel Standard Cylinders (Rod Type)
BSC %%l ( $32-¢200)

= - FREAE
& REMSELRTI e |aielesielm
- }MEAR TR
: : : THhAR %5 (Z40um BHRITR)
All Stainless Steel Cylinder Series S 75| EkEAs -5 GAS Con B8 TCHVE
i#id 1S09001 EPRFREARIAUE B3 [ BSCD,BSC) K5 MAR FAR LBA TOM Y& 15
HREHEE 0.1~1.0MPa(14~145psi)
1RIER E H 1.5MPa(215psi)
TiEREC -20~80
% Bk S5 E mms 30-800
GRAZER 0-250°° 251-1000-° 1001~1600°°
R o il
GAGE mm 21 28 | 29
‘EENR PT1/8] PTI/4 | PT3/8 |[PT1/2
*HREFRE NPT, G Fol#itiF,
s
BSC BSCD BSCJ BSCT -
= e e e | TR
%5 | AR T BA|BH
BSC-S BSCD-S BSCJ-S
= 2 =2 BSGTH'S &H | (mm) i R | R
25507580 100 125 150 160 175 200
82 250 300 350 400 450 500 20012000
40 1200 {2000
o BSC | 50 | 25507580 100125 150 160 175200 |1200 |2000
an%ﬁ 63 250 300 350 400 450 500 600 700 800 |[1500 |2000
1. ALK 80 900 1000 1500 2000
2. ERVHRBRUNOYHEN, RIEE HHHDE 100 1600 2000
3. ARAANE, MERSTERULEMIATER, TRILE ¥ ARAGRBEN. £58>1600mm, KL RTRRG
4. RETERHRE, RARHERTPHRREE: ey limig
5. SESAiEY ER;
6. FAAHNSERFAFRNREMFTRELERER,;
7. TREFESFEHSEMHEREHME, FSEHE 1S0CHEF
HFEXTH.
SMERSTE (ZX)
s AsHE
B C+i78

a’f ool O o |

2k IS 1l Ry S ¥

L © / w/ 3 L FP——

AE
aE/ e E[Fla[H] 1]y K | L [m[nN[o]r[a[rR]s[T[Vv]w

a2 az W% |276 ) 22 7 -] M10 =125 ] ME=1 95 137 aB 35 7 a3 | 12 10
40 3 | 16 | 275 24 | 17 | 7 | M12x125 | M6x1 | 95 | 185 | Q4" | 6 |82 | © | 50 &7 | 16 | 14
) 42 | 15 275 @32 | 23 | 8 | MIB<15 | MB=1 | 95 135 | G4 85|82  © | 6 47 | 20 | 17
) 42 | 16 | 275 62 | 23 | 8 | MiBx15 | M8x125 | 05 | 185 | Gv8" | 7 | 82 | 85| 75 6 | 20 | 17
) 54 | 21 | 83 | 40 | 26 | 10 | M20x15 | MI0x16 | 115 | 165 | G¥8" | 10 | 95 | 14 | 84 | 70 | 25 | 22
0 | 54 | 21 [ |20 |26 10| mox15 | mi0ox15 | 115|165 | ez | 11 [ es | 14 | m2 8s |25 | 2
125 246 | 101 | 145 | 57 | 69 | 82 | 40 | 54 | 39 | 11 | M27x2 | Mi12x175 15 | 20 | @we" | - | - | - | 140 110 82 | 29
160 300 | 195 | 165 | 65 | 100 | 83 | 45 | 72 | 62 | 14 | Meex2 Miex2 | 15 | 25 | @12 | - | - | - |180 140 40 | %8
200 339 | 150 | 189 | 70 | 100 | 50 | 50 | 72 | 62 | 14 | M@sx2 | Mex2 | 80 | 25 | @& | - | - | - | 220|175 60 | 46




All Stainless Steel Cylinder Series \ S/ ERFR[ERT

ERH R AESEL
All Stainless Steel S—t;ndard Cylinders AEEFHEF

BMBB &%l ( ¢ 32-¢ 125) Stainless steel accessory

FRAERRAR

A (mm) 32 [ 40 | 50 [ 63 | 80 [ 100 | 125
ItEA L

It SN (B0umBATE)

#z |emes HRE FAFB GA CB CALB TC TOMI ToM2
® |emss0BmeBl £3 A FALS TC TOM1 TCM2
ERAENHEE 0.1~1.0Mpa(14~145psi)

RIEMEN 1.5MPa (215ps))

IffBNT -20~80

iR Vs 30-800 | 20-s00
FRLSTER 0~250y°  251~10003*  1001~1500%"
St TREA

#4578 mm 24 [ a2 [ors | 40
TEEOE Prig| P4 | PTEs PT2

*HEFAE NPT, G Fo{#ERF.

= i

1. Rk SE:
ﬁ_%_ 2. EREHZERIVEOEHEN, RTRE, HiEATHRE:
3. ANHARSE, WEESAFWEEAIEER, TRTE
BMBB BMBBD BMBBJ 4. REFFWG R A AR E bR 6
=4 = 5 5. REMAWHER:
BMBB-S BMBBD-S BMBBJ-S 6. ZHABNSARAFNLEMFTREAERER:
== A= 7. THEPEARBERRREHHN, RAUE 150CHRR
HFERITE.
1718
miz = ®|E  FiF
(mm) A sH G
32 2550 75 80 100 125 150 160 175 200 300 350 400 450 500 1000 1800 Z;%maa1¢
40 1200 1800 . o
| em Stainless steel fittings
& 2550 75 80 100 125 150 160 175 200 300 350 400 1500 1800
o 450 500 600 700 800 800 1000 1500 | 1800
100 1500 1800
125 1500 1800

E HEMRTRIBSARTHE

."!m

'

WEg/ff% A | B | C | D E|F|[@G@|H|I |V K L N o P Q R S T v w X
a2 186 47 B84 90 84 18 27 2 17 6 MOx125 M6 13 PTI/8 4 205 65 48 325 12 10 E)
40 16 61 84 8 88 18 27 8 W 8 M14x15 M6 14 PTV4 4 205 9 52 28 1B 14 4
50 156 658 94 40 4 14 15 8 27 N M18x15 M8 165 PT1/4 & 23 105 6 465 20 18 4
63 156 58 94 45 44 14 HS5 8 2F N M18x15 M8 165 PT&8 9 23 12 7 585 20 18 4 o
80 10 72 N4 45 652 20 88 40 32 18 M22x15 M6 19 PTS8 N6 265 14 ] 72 25 22 4 o O o @
100 10 72 M4 65 62 20 388 40 B 18 M26=16 M0 19 PTVW2 17 265 15 14 89 20 26 4 O
125 223 97 120 €0 70 27 38 54 41 185 M22x22 M2 19 PT/2 17 20 15 187 110 82 27 6

* WERESENRIREEEE



	折手文档 1_1
	折手文档 1_2
	折手文档 1_3
	折手文档 1_4
	折手文档 1_5
	折手文档 1_6
	折手文档 1_7
	折手文档 1_8
	折手文档 1_9
	折手文档 1_10
	折手文档 1_11
	折手文档 1_12



